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Q1. 
  
100 girls and 50 boys were asked which kind of chocolate they like best. 

These two pie charts show the results. 
  

  

Dev says: 

"The pie charts show that more girls than boys liked milk chocolate best." 

Dev is correct. 

Explain how you know. 
  

  
1 mark 

Q2. 
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A shop sells drinks. 

The pie chart compares the money a shop took last year for water, juice and soft drinks. 
  

  

The shop took £8,264 for soft drinks. 

Sales of water and juice were equal. 

How much money did the shop take for juice last year? 
  

  
2 marks 

Q3. 
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Megan asked children from two different schools, 

‘How do you travel to school?’ 

Here are her results. 
  

  

Foxwood school 
80 children 

  

  

Midtown school 
240 children 

Megan says, 

‘The number of children walking to Foxwood school is 
 more than the number walking to Midtown school.’ 

Is she correct? 
Circle Yes or No. 

Yes / No 

Explain how you know. 
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1 mark 

At Midtown school, one third of children travel by car. 

The number of children who cycle is the same as the number who go on the bus. 

How many children cycle to Midtown school? 
  

  
2 marks 

Q4. 
  
200 girls and 100 boys were asked about their favourite meal. 

These pie charts show the results. 
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Look at the pie charts. 

For each statement put a tick (✔) if it is true or a cross (✘) if it is false. 

  

Three-quarters of the boys chose fish and chips. 
 

Three times as many boys as girls chose fish and chips. 
 

Altogether, half of the children chose fish and chips. 
 

25 more boys than girls chose fish and chips. 
 

2 marks 

Q5. 
  
This pie chart shows the ingredients to make  
a food mixture for wild birds. 
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Estimate the percentage of mixture that is suet. 

  
1 mark 

Mina uses 100 grams of millet in the mixture. 

Estimate how many grams of sunflower seeds she should use. 

  
1 mark 

Q6. 
  
40 children predicted who would win the boys’ race at sports day. 

This pie chart shows their predictions. 
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What percentage of the children predicted that Stefan would win? 

  
1 mark 

10 children predicted the winner of the race correctly. 

Who won the race? 

  

Explain how you know. 
  

  
1 mark 

Q7. 
  
A shop sells books, CDs and DVDs. 

This pie chart shows the sales of each in one week. 
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Estimate the fraction of the total sales that were DVDs. 

  
1 mark 

In this week, 200 CDs were sold. 

Estimate how many books were sold. 

  
1 mark 

Q8. 
  
Class 6 did a survey of the number of trees in a country park. 

  

  

This pie chart shows their results. 
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Estimate the fraction of trees in the survey that are oak trees. 

  
1 mark 

The children counted 60 ash trees. 

Use the pie chart to estimate the number of beech trees they counted. 

  
1 mark 

Q9. 
  
This pie chart shows how the children in Class 6 best like their potatoes cooked. 
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32 children took part in the survey. 

Look at the four statements below. 

For each statement put a tick (✔) if it is correct. 

Put a cross (✘) if it is not correct. 

  

10 children like chips best. 
 

25% of the children like mashed potatoes best. 
 

 of the children like roast potatoes best.   

12 children like jacket potatoes best. 
 

2 marks 

Q10. 
  
The pie charts show the results of a school’s netball and football matches. 

  

  

The netball team played 30 games. 
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The football team played 24 games. 

Estimate the percentage of games that the netball team lost. 

  
1 mark 

David says, 

'The two teams won the same number of games'. 

Is he correct? 
Circle Yes or No. 

Yes / No 

Explain how you know. 

  
1 mark 

Q11. 
  
Tony and Gemma looked for snails, worms, slugs and beetles in their gardens. 

  

  

They each made a pie chart of what they found. 
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Estimate the number of worms that Tony found. 

  
1 mark 

Who found more snails? 

Circle Tony or Gemma.                                                       Tony  /  Gemma 

Explain how you know. 

  
1 mark 

Q12. 
  
The Year 6 children in a school were asked to choose a musical instrument. 

This is a pie chart of their choices. 
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Estimate what fraction of the children chose a drum. 

  
1 mark 

There are 80 children in Year 6. 

Estimate the number of children who chose a violin. 

  
1 mark 

Explain how you decided. 

  
1 mark 

15% of the 80 children chose a guitar. 

How many children is this? 
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2 marks 

Q13. 
  
Some children work out how much money two shopkeepers get from selling fruit. 

They use pie charts to show this. 
  

  

Mrs Binns gets £350 selling bananas. 

Estimate how much she gets selling oranges. 

  
1 mark 

Mrs Binns gets a total of £1000 and Mr Adams gets a total of £800 

Estimate how much more Mrs Binns gets than Mr Adams for selling peaches. 
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1 mark 

Q14. 
In a survey of how children travel to school, these were the results. 

  

Transport Walk Cycle Bus Car 

Percentage of 
children 

25% 10% 45% 20% 

Abby wants to make a pie chart to show the results. 

Complete the table to show the angles of each section of the pie chart. 
  

Transport Walk Cycle Bus Car 

Percentage of 
children 

25% 10% 45% 20% 

Angle on pie 
chart 

90°       

2 marks 

Q15. 
Amina asked 60 children to choose their favourite flavour of jelly. 

These were her results. 
  

Flavour 
Number of 
children 

Raspberry 12 

Lemon 8 

Orange 15 

Blackcurrant 25 

Total 60 

What percentage of the 60 children chose orange? 

  
1 mark 

Q16. 
A machine pours 250 millilitres of juice every 4 seconds. 

How many litres of juice does the machine pour every minute? 
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2 marks 

Q17. 
Tick the fractions that are equal to 20%. 

  
2 marks 

Q18. 
This graph shows the maximum temperature for five days. 
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For what fraction of the five days was the maximum temperature below 10°C? 

  
1 mark 

What was the mean maximum temperature, to one decimal place? 

  
2 marks 

Q19. 
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The International Space Station orbits the Earth at a height of 250 miles. 

What is the height of the International Space Station in kilometres? 

Use 8 kilometres equals 5 miles. 

  
1 mark 

Q20. 

         
Not to scale 

The distance from point P to point R is 800 metres. 

The distance from point P to point Q is 4 times the distance from point Q to point R. 

Olivia says, 

  

Explain why Olivia is not correct. 
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1 mark 

Q21. 
  

     

Write these fractions in order, starting with the smallest. 

  
1 mark 

Q22. 
Layla wants to estimate the answer to this calculation. 

  

Tick the calculation below that is the best estimate. 
  

  Tick one 

3 − 2 + 2 
 

4 − 2 + 1 
 

4 − 2 + 2 
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3 − 2 + 1 
 

1 mark 

Q23. 
The length of an alligator can be estimated by: 

•   measuring the distance from its eyes to its nose 

•   then multiplying that distance by 12 

What is the difference in the estimated lengths of these two alligators? 

  

 
2 marks 

Q24. 
  
Adam says, 

   
Explain why he is correct. 



 
Page 21 of 42 

  
1 mark 

Q25. 
  
On a map, 1 cm represents 20 km. 

   

The distance between two cities is 250 km. 

On the map, what is the distance between the two cities? 

   
2 marks 

Q26. 
  

A cat sleeps for 12 hours each day. 
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50% of its life is spent asleep. 

Write the missing percentage. 

A koala sleeps for 18 hours each day. 
  

 

of its life is spent asleep. 

  

1 mark 

Q27. 
  
Here are two similar right-angled triangles. 

  

Write the ratio of side a to side b. 

  
1 mark 

Q28. 
This is a diagram of a vegetable garden. 

It shows the fractions of the garden planted with potatoes and cabbages. 
  

potatoes 

cabbages Not to scale 
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carrots 

The remaining area is planted with carrots. 

What fraction of the garden is planted with carrots? 

 
2 marks 

Q29. 
  

In this circle,  and  are shaded. 

  

What fraction of the whole circle is not shaded? 
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2 marks 

Q30. 
  
The numbers in this sequence increase by the same amount each time. 

Write the missing numbers. 

  
2 marks 

Q31. 
  
6 small bricks have the same mass as 5 large bricks. 

  

The mass of one small brick is 2.5 kg. 

What is the mass of one large brick? 
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2 marks 

Q32. 
  
Lara had some money. 

She spent £1.25 on a drink. 

She spent £1.60 on a sandwich. 

She has three-quarters of her money left. 

How much money did Lara have to start with? 

  
2 marks 

Q33. 
  

On Saturday Lara read  of her book. 
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On Sunday she read the other 90 pages to finish the book. 

How many pages are there in Lara’s book? 
  

  
2 marks 

Q34. 
  
Write the missing fraction. 

  

  
1 mark 

Q35. 
  
This is Kirsty’s recipe for breakfast cereal. 
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50 grams of oats 

30 grams of raisins 

40 grams of nuts 

  

If she uses 125 grams of oats, how many grams of raisins does she need? 
  

  
2 marks 
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Mark schemes 

Q1. 
Award ONE mark for an explanation which recognises that the 
two pie charts represent different numbers of children, e.g: 

•        ‘25 boys like milk chocolate best and more than 25 girls do’ 

•        ‘It’s almost half of 100 girls and that’s more than half of 50 boys’ 

•        ‘The pie chart shows that half of the boys chose milk chocolate and that’s 25. About 
45 girls chose milk chocolate because it’s nearly half of the girls’ pie chart’ 

•        ‘25 boys chose milk chocolate, but (whole number in the range 40-49) girls chose 
milk chocolate’ 

•        ‘There are twice as many girls as boys so a quarter of the girls’ pie chart is the 
same number as half of the boys’ pie chart, and it’s more than a quarter of the girls’ 

•         of 50 boys chose milk = 25 

 of 100 girls chose plain = 25 

and from the girls’ pie chart it is obvious that more chose milk than plain’ 

•        ‘There are twice as many girls as boys and the sizes of the pie charts show this and 
the area for boys who like milk chocolate is smaller than the area for girls who like 
it’. 

Do not accept vague or incomplete explanations, e.g: 

•        ‘100 is more than 50’ 

•        ‘More girls took part than boys so more girls like milk 
chocolate’ 

•        ‘The section for boys who like milk chocolate is smaller 
than the section for girls who like it’. 

Commentary: The pie charts are presented using the mathematical convention that their 
areas are proportional to the numbers they represent, i.e. in this example the chart for 
girls has twice the area of the chart for boys. 

[1] 

Q2. 
Award TWO marks for the correct answer of £12396. 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, eg: 

■       £8264 
  ×           4 

       £33056 

OR 
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       £33056 
  −     8264 

       £24792 

  

       £24792 ÷ 2 

OR 

■       £8264 ÷ 2 = £4132 
£8264 + £4132 

Answer need not be obtained for the award of ONE mark 
Up to 2 

[2] 

Q3. 
(a)     An explanation that shows that one quarter 
of 240 is more than one half of 80, eg: 

•        ‘Because only 40 are walking to Foxwood 
and 60 are walking to Midtown’ 

•        ‘Half of the people who walk is 40 and 
a quarter of the people who walk is 60’ 

No mark is awarded for circling ‘No’ alone. 

Do not accept vague or incomplete explanations, eg: 

•    ‘Because at Foxwood it’s a half and at 
Midtown it’s a quarter’ 

•    ‘Because there are 80 children at Foxwood 
and 240 children at Midtown’ 

If ‘Yes’ is circled but a correct unambiguous 
explanation is given then award the mark. 

1 

U1 

(b)     Award TWO marks for the correct answer of 50 

If the answer is incorrect, award ONE mark for 
evidence of an appropriate method, eg 

240 ÷ 3 = 80 

240 – 80 – 60 = 100 

100 ÷ 2 

Answer need not be obtained for the award of ONE mark. 
Up to 2 

[3] 

Q4. 
Indicates all four correctly, ie: 
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!    Incomplete response 

For 2 marks, do not accept any box left blank  

!    Other indication 

Accept any unambiguous indication, eg: 

•    ‘Y’ for ticked  
2 

or 

Indicates any three correctly 
1 

[2] 

Q5. 
(a)       Answer in the range 15% inclusive to 25% exclusive 

Do not accept 25% 
1 

(b)       Answer in the range 200 g to 400 g exclusive 

Do not accept 200 g OR 400 g. 
1 

[2] 

Q6. 

 

(a)     20% 

Do not accept equivalent fractions or decimals. 
1 

(b)     An explanation which recognises that 25% chose Jack, eg: 

•    ‘A quarter of the children guessed Jack and that is 10 out of 40’ 

•    ‘10 out of 40 ( ) were correct and the pie chart shows  chose Jack’ 

•    ‘Half guessed Amir which is 20 and Jack is half of that which is 10’ 

•    ‘10 guessed right and the pie chart shows three times as many 
chose the other runners’ 
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•    ‘25% chose Jack and 25% were correct’ 

• 

  

No mark is awarded for ‘Jack’ alone. 

Do not accept vague or incomplete explanations, eg: 

•    ‘There were 40 children altogether’ 

•    ‘Less than half chose Jack’ 

•    ‘Because Jack is the fastest’. 

If the answer to ‘Who won the race?’ is incorrect, but a 
correct, unambiguous explanation is given, then award the 
mark. 

U1 

[2] 

Q7. 

(a)     Answer in the range  to  inclusive 

Range includes  and  

Accept decimals or percentages. 
(0.13 to 0.2 inclusive) 
(13% to 20 % inclusive) 

1 

(b)     Answer in the range 500 to 800 inclusive 
1 

[2] 

Q8. 

(a)     Answer in the range  to  inclusive. 

Range includes , ,  and  

Accept decimals (0.1 to 0.15 inclusive) or percentages 
(10% - 15% inclusive). 

1 

(b)     Answer in the range 40 to 50 inclusive. 
1 

[2] 

Q9. 
Award TWO marks for boxes ticked and crossed as shown: 
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          If the answer is incorrect, award ONE mark for any three boxes 
correctly completed. 

Accept alternative unambiguous indications such as Y or N. 

For TWO marks, accept: 

  

  

  

  
Up to 2 

[2] 

Q10. 
(a)     Answer in the range 30% to 36% inclusive. 

1 

(b)     An explanation which recognises that both teams won half their games, 
but both teams played a different number of games, eg 

•    Half of 30 is not the same as half of 24 

•    Because of 30 e 15 but of 24 = 12 

•    Because 15 is more than 12 

No mark is awarded for circling ‘No’ alone. 

Do not accept vague or arbitrary explanation, eg 

•    The netball team played more games; 

•    Both teams won half their games; 

•    30 is more than 24 

If ‘Yes’ is circled but a correct unambiguous explanation is 
given, then award the mark. 

U1 

[2] 

Q11. 
(a)     An answer in the range 21 to 26 inclusive. 
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No mark is awarded for an answer which is not a whole 
number. 

1 

(b)     An explanation which recognises that Tony’s snails are a quarter of 80 and that 
Gemma’s snails are half of 36, so that Tony found more, eg 

•    ‘Tony found 20 and Gemma found only 18’; 

•    ‘Quarter of 80 is more than half of 36’. 

No mark is awarded for circling the correct answer of ‘Tony’. 

Do not accept vague or arbitrary explanations, eg 

•    ‘Tony found loads more’; 

•    ‘Gemma found more but Tony’s amount is bigger’. 

Accept a correct, unambiguous explanation even if the 
wrong name is circled. 

1 

[2] 

Q12. 
(a)     The answer is approximately 1/7. Accept any fraction, percentage or decimal 
in the range: 

•    1/9 to 1/5, inclusive 

•    11% to 20%, inclusive 

•    0.11 to 0.2, inclusive 
1 

(b)     The correct answer is 10. Accept any number in the range 8 to 12, inclusive. 
1 

(c)     The explanation should make reference, in some form, to appropriate 
fractional estimates, eg: 

•    “Because it looks like a quarter of a half and that’s 10.” 

•    “I thought the violin looked like half the trumpet and that was about a quarter.” 

•    “I decided this because 1/4 was 20 children, so I halved 20 and made it 10.” 

Explanations which lack specific reference to appropriate 
fractions should not be awarded the mark, eg: 

•    “Because it’s a bit less than the trumpet.” 

•    “Because there are 6 parts to the pie chart.” 
1 

(d)     Award TWO marks for the correct answer of 12, even if there 
are errors in the working. 

          Award ONE mark if the answer is incorrect, but there is evidence of an attempt to 
calculate 15% of 80 by any method, eg: 

•    15/100 × 80 = (incorrect answer given) 
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•    10% of 80 = 8, 5% is 4, so 15% of 80  = (incorrect answer given) 

•    1% of 80 = 80/100 = 4/5, so 15% = 4/5 × 15 = (incorrect answer given) 

The writing of “15/100 × 80” (or equivalent) alone is not 
sufficient evidence of an attempt to calculate. 

Up to 2 

[5] 

Q13. 
(a)     Award ONE mark for an answer in the range £85 to £125, inclusive. 

1 

(b)     Award ONE mark for the correct answer of £50 
Accept any estimate in the range £45 to £55, inclusive. 

1 

[2] 

Q14. 
Award TWO marks for the three correct measurements as shown: 

  

Transport Walk Cycle Bus Car 

Percentage of 
children 

25% 10% 45% 20% 

Angle on pie 
chart 

90° 36° 162° 72° 

Award ONE mark for any two correct. 

[2] 

Q15. 
25 

[1] 

Q16. 
Award TWO marks for the correct answer of 3.75 

If the answer is incorrect, award ONE mark for evidence of an appropriate 
method, e.g. 

•   60 ÷ 4 = 15 
•   250 × 15 = 3750 
•   3750 ml ÷ 1000 = 

OR 

•   250 ÷ 4 = 62.5 ml per second 
•   62.5 × 60 = 3750 
•   3750 ml ÷ 1000 = 

OR 
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•   60 ÷ 4 = 15, so there are 15 lots of 4 seconds in 1 minute so there are 
15 bottles per minute. 

•   There are 4 bottles in 1 litre 
•   15 ÷ 4 = 

Accept for TWO marks, 3,750 ml for final answer in working 
and the answer box blank OR 3,750 in the answer box 
where the litres has been replaced with millilitres. 

Accept for ONE mark 3,750 litres (l) in the answer box OR 
the final answer in working and answer box blank. 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 

[2] 

Q17. 
Award TWO marks for two boxes ticked correctly, as shown: 

  

  
 

  
 

  
 

   

  
 

If the answer is incorrect, award ONE mark for: 

•   only ONE box ticked correctly and no incorrect boxes ticked 
•   TWO boxes ticked correctly and ONE incorrect box ticked. 

Accept alternative unambiguous positive indication of the 
correct answer, e.g. Y. 

Up to 2m 

[2] 

Q18. 

(a)   

Accept equivalent fractions and decimals e.g.  and 0.4 
1 

(b)  Award TWO marks for the correct answer of 10.7 

If the answer is incorrect, award ONE mark for evidence of an 
appropriate method, e.g. 
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•   8.1 + 9.3 + 11.9 + 11.8 + 12.4 = 53.5 
53.5 ÷ 5 

Answer need not be obtained for the award of ONE mark. 

Any correct rounding or truncating does not negate an 
appropriate method. 
Any value which does not result from correct rounding or 
truncating implies an additional step not shown. 

Up to 2m 

[3] 

Q19. 
400 

[1] 

Q20. 
An explanation that gives the correct values for PQ and/or QR, e.g. 

•   PQ = 640 m 
•   QR is 160, 160 times 4 is not 600 m 
• 

  

OR 

An explanation recognising PR is 800 m and must be 5 times QR, e.g. 

•   the total distance is 800 m. Divide by 5 to give 160 for distance between Q and R, 
so P and Q is 4 × 160 = 640 m (not 600 m) 

•   if QR is 200 m, then PR is 1000 m not 800m 
•   if PQ is 600 m then QR is 800 − 600 = 200 m. Then PR is 5 × 200 = 1000 m but it is 

only 800 m. 

OR 

An explanation that PQ is not 600 m, e.g. 
•   if it was 600 m then the shorter distance would be 200 m if added to make 800 m, 

600 m is 3 times 200, not 4 times 
•   Olivia is not correct because 600 ÷ 4 = 150 and 600 + 150 doesn't equal 800 
•   Olivia is not correct because 800 − 600 = 200 and 600 is not 4 times 200 

Do not accept vague, incomplete or incorrect explanations, 
e.g. 

•   Olivia is not correct because you can’t divide 600 by 4 like 
you can for 800 

Do not accept explanations which include incorrect mathematics 
or incorrect information that is relevant to the explanation. 

[1] 

Q21. 
Fractions written in the correct order, as shown: 
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Accept the fraction joined to the correct box, rather than 
written in it. 

Do not accept transcription errors or misreads for this 
question. 

[1] 

Q22. 
Third box only ticked correctly, as shown: 

  

3 − 2 + 2 
 

4 − 2 + 1 
 

4 − 2 + 2 
 

3 − 2 + 1 
 

Accept alternative unambiguous positive indication of the 
correct answer, e.g. Y. 

[1] 

Q23. 
Award TWO marks for the correct answer of 30 

If the answer is incorrect, award ONE mark for evidence of an appropriate 
method, e.g. 

•   17.5 × 12 = 210 
15 × 12 = 180 
210 − 180 = 

OR 

•   2.5 × 12 = 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 

[2] 

Q24. 
  

An explanation showing that 0.25 is less than , e.g. 

•     
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•     

•    0.25 is 25% and  is 40% and 25% is smaller than 40% 

•    0.25 is a quarter. 

    You need 8 quarters to make 2, but only 5 lots of  to make 2 

•     

•     is  smaller than a half, but  is only  smaller, 

    so  is smaller than   

Do not accept vague, incomplete or incorrect explanations, 
e.g. 

•    Because  is bigger than   

•    Because  comes first on a number line 

•    Because 0.25 is   

Accept  as an equivalent to  in an explanation when 

comparing to   

[1] 

Q25. 
  
Award TWO marks for the correct answer of 12.5 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g. 

•    250 ÷ 20 

OR 

•    20 km is 1 cm 
     100 km is 5 cm 
     50 km is 2.5 cm 
     5 cm + 5 cm + 2.5 cm 

Answer need not be obtained for the award of ONE mark. 

Do not accept incorrect proportions in any step without 
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evidence of the calculation performed. 
Up to 2m 

[2] 

Q26. 
  
75 

[1] 

Q27. 
  
1:4 

Accept other equivalent ratios, e.g. 2:8 or 0.5:2 

Do not accept reversed ratios, e.g. 4:1 or 8:2 

[1] 

Q28. 

Award TWO marks for the correct answer of  or an equivalent fraction. 

If the answer is incorrect, award ONE mark for: 

•   sight of  

OR 

•   evidence of appropriate method, e.g. 

 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 

[2] 

Q29. 
  

Award TWO marks for the correct answer of   

Accept equivalent fractions or an exact decimal equivalent, 

e.g.   

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g. 
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OR 

  

OR 

  

OR 

  

OR 

  

Accept for ONE mark an answer between 0.58 and 0.59 
inclusive. 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 

[2] 

Q30. 
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(a)      written in the first box 
1 

Accept equivalent fractions or an exact decimal equivalent, 
e.g. 0.375 

(b)      OR  written in the last box 
1 

Accept equivalent fractions or an exact decimal equivalent, 
e.g. 2.875 

[2] 

Q31. 
  
Award TWO marks for the correct answer of 3. 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g. 

•        2.5 × 6 = 15 
15 ÷ 5 

Answer need not be obtained for the award of ONE mark. 

Misreads are not allowed. 
Up to 2m 

[2] 

Q32. 
  
Award TWO marks for the correct answer of £11.40. 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g. 

•        £1.25 + £1.60 = £2.85 
£2.85 × 4 

Accept for ONE mark an answer of £1,140 OR £1,140p OR 
£11.4 as evidence of an appropriate method. 

Answer need not be obtained for the award of ONE mark. 
Up to 2m 

[2] 

Q33. 
Award TWO marks for the correct answer of 150 pages. 

If the answer is incorrect, award ONE mark for evidence of an appropriate method, e.g: 
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•         = 90 

9 ÷ 3 = 30 

30 × 5 

OR 

•         

  

30 × 5 

Answer need not be obtained for the award of ONE mark. 
Up to 2 

[2] 

Q34. 

  

[1] 

Q35. 
Award TWO marks for the correct answer of 75 

If the answer is incorrect, award ONE mark for evidence of appropriate working, eg: 

■        125 ÷ 50 = 2.5 

2.5 × 30 = wrong answer 

OR 

■        50g oats       30g raisins 

25g oats       15g raisins         (÷ 2) 

125g oats     wrong answer     (× 5) 

Working must be carried through to reach an answer for the 
award of ONE mark. 

Up to 2 

[2] 


